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Contributions

* Evidence that processor allocation matters

* Improved processor allocation scheme for CPlant based on a space-
filling curve

* Sum of pairwise distances as a metric for processor allocation



Processor allocation: Where to run
HE B
__§  RENSEEEE
BREE R B

8 R &

 Which unused (white) processors should system give a 5 node job?




What is a good allocation?
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How much does it matter?




Step 1: Put processors in a good linear order

Hilbert space-filling curve
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Step 2: Choose nearby processors in the order

To allocate processors for a single job:
* Free list: assign first processors

* First fit: assign from first interval of free processors (or processors
that minimize the range of processors used)

 Best fit: assign from smallest interval of free processors that is big
enough (or minimize range)

e Sum of squares: assign from interval that leaves best variety of
remaining intervals (or minimize range)
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Best metric: Sum of
pairwise distances

Also looked at: (sum/max/etc)

Span in linear order

Span / Job size

Size of bounding box (3D)

Sum of bounding box dimensions
Number of connected components

(But didn’t run statistical tests...)

Completion Time (seconds)
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